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| Practice |
| For use with pages 282-291

Wfité an equation of the line with the given slope and y—intercept.'

1. slope: 7; y-intercept; 4 - 2. slope: —3; p-intercept: 5 3. slope: 1; y-intercept: —6

Write an equation of the line shown.
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= Wrife an 'equa‘tibn of the line that passes through the givén poixits.
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16 ) Laedscape Supplyl A landscape supply business charges $30 to deliver mulch. The
‘" mulch costs $23 per cubic yard. : ' :

. Write an equation that gives the total cost (in dolldrs) of having mulch delivered
toa sitc as a functlon of the number of cubic yards ordered.
¢ = cost CH

¢ = 30 +25%777 M= muﬂ,dq(bd

b. Identify the dependent and independent variables in thls situation. C,_gr dependo :}’F Uf Wﬁf G]ﬂ

M%

dejendent L CDSJ"
éupew-(.am:}- e cubte yardo 07' vude

~ ¢. Find the cost of having 8 cubic yards of mulchdelivered to a site, -

=305 23(8)
p C.=30 + 134 ¢ =42y 4 oD

17, Cable Television A cable company charges $44 per month for basic service. Each
premium channel costs an additional $16 per month.

a. Write an equatmn that gives the total cost (in dollars) of cable each month dsa
function of the number of premium channels. w&/’”

¢ = L’U—} + /[0‘10) - B ﬁp_ M

¢

b. Identﬁ the depéndent and independent variables in this situation.
Tod Cost _ |
o] pramium clarsets . lnc
xplain how you can use the equation from part (a) to approx;mate how many
premium channels you can have for $80 a month. . : FO =Y+ / (e y
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E;f 18. /Laser Printer A laser printer _has a “sleep” mode that is an energy-saving feature. 6
~-" TWhen a job is sent to the printer, it takes 45 seconds for the printer to warm up and

then the printer prints pages at a rate of 6 pages per minute.

a. Write the time it takes the printer to warm up in minutes,

b. Write an equation that gives the total amount of time (in minutes) it takes the
printer fo warm up and print a job as a function of the number of pages in the job.

i:.i?z_-s__"ﬁ;_ t 2, ’f—i?m(m"”")
T TP A o

c. Fmd out how long it takes the printer to print a SO—page job if it must first warm up.

7= Z+ L (5D)
f:%+8*
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For use with pages 292-299

‘ Wrate an equatlon of the line that passes through the given point and has

siope m.

—a

1. (=1,6:m=5 @(10,3);:71:,—'_2 . 3. (2, 3m=7
A ' Y-3 = (X . '

j J =K B LD

_ 2

. | 3 2 -qxt23 ' | o

4. ( 4 —=9); mf2 ’ (55 (5, —4),m:% W‘ k\ﬁ )( 8, 1);m = _% (= l(]ag){-b
_ , — é@) te ‘j,q{ = ;f?(-aw‘z) (= (a 4 L}

Ftion of the hne shown.
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'Wri_te an equation qf the lne that passes thrdugh ;the given points. 7
10.. (—10,7),(5,-3) .. (—5,-3), (12 17. 4) 12. (=8, 84), (5, —46) _

Write an equation for the linear function f with the given values.

18 ()= -8,A-3)=1 14 f6)=-4f9=-9 15 f(—1)=6,f(4) = —
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Practice
For use with pa ges 302—308 .

Write an equatlon in pomt~slope form of the line that passes through the

‘given point and has the given slope m.

1. (L9%m==3 2 (4, -10m=2 3 (=5.6um=4
4 (=2,-8:m=3 5. (—4, —7);m:—% Cg (-9

["g (X.+-Cl>k

7. (6, —4)ym=2 o8 (0,15 m=2 - 9 (~8,0)m = 2
6 =4 3 m=s

Yg 0 “_;?(’)H;SJ

Graph the equation. . . .
10, y—6=73(x—4) : 1 oy l=20—5) -@y—.2=1—4(x+3) "7)13.'"‘/':
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Write two equations in standard form that are equivalent to the '

given equation.

1. 6x+24y =18

4, —4x —2y=16

2, 8x— ldy=2

5, 2x-+3y=11

given point and has the given siope m.

7. (4,3)m=7

10. (7,8, m= -3

given points. -

13, (2,6),(3,8)

16. (3,-8),(5,—9)

p

Algebra 1
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8 (5 —1),m=2

(1?‘ ©, —10), m = —4
GET (k)
Gtlo s Tk €36
20D

T R -4 4
0 —f oy + 2l ———
i = Fx 35
i X

Write an equation in standard form of the line that passes through the’

1. (-1,2),(54)

(17.) (5,6, 2.~
ok L
5K T L =1

= ~E(x*S)

—p T -_(i')(f"ﬁ—
1.

632(—-3, —1), (6, ~8)
TN " Bl W A 4 W
i Pnks

3. 6x'+y=1

8. 9 t+4y=>5

Write an equation in standard form of the line that passes through the

9. (-2,6),m=1

Ry ‘ 1
(12) (15, ~4.m =7
G = £Cres)
R + %t 13_4_:“

15. (7, -3), (4, 1)
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‘:l+l'=“'5§“(*-f5)' SR

. Zt \ e
A e I N

i yright © by McCougal Littell, a division of Houghton Mifflin Company.

5, . 3 . A , {= G L g
74 Chapter 5 Practice Workbook . "?_\! ¢ 2 y 7 (;f X -+ 7 Y = ’,3) 1% .-‘(v.—_l?ﬂyv T F LE—-L
R ] i a i it e = (=3 r._.




Name : : : Datg

Practice
For use with pages 318-324

Write an equation of the fline that passes through the given point and is
parallel to the given line. -

@, 7),y = 5% — 3 2. (,-2= Zxt1l 3 (=6, DAxty=7

4. (=5, -5),6x —y=1 & (0, 8) Svrdp=5

SK

__..._--—

~w ,-5{,(3

’ 2 ‘ e = (2]
Ytz reD ~F Fe “"‘3
4 1A _ o = f’é“_'lL‘ o Z‘_S
Write an equation of the line that passes through-the-given-peinti id is = '!2'*_
perpendicular to the given line. ' B
) : . R : - 2 o = L
7. (I, =1)Lpy=3x+2 8. (5,0),y¢§x—4 9J(3 7},y m§x+1 >
’ ‘ ) . _L e 5

10. (—9,2),10x— 5y =6 11. (10

Determine which of the foll(;wing lines, if ény, are parallel or :

1 e | (;’3 +8 :'%(X ) O

13. Lineg:y=8x — 5,Line b: y = i l,Linec: 8x +p=2 /0 T T
. . il el '5

Ytg= X+

perpendicular.

i 14.. Linea:y = —2x + 5, Line b: 2y —x =3, Linec: 2x + y = 1

15. Linca: 6x+ 2y = 5, Line b:y = 2x — 4, Line ey = —3x + 5
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